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& Btk &% HEBLEE
E AR ISR 14 1, 650 1, 500 150
B ERIE 2 ¥ 3, 300 3, 000 300
E AR ISR 3 # 4, 950 4, 500 450
B ERIE A 6, 600 6, 000 600
E AR ISR 51 8, 250 7,500 750
& Btk &% HEBLEE
EH+EARX 1% 500 455 45
H+EAK 2 ¥ 1,000 910 90
H+EAR 3 # 1, 500 1,364 136
H+EAK A ¥ 2,000 1,819 181
H+EAR 51 2,500 2,273 227
H+EAK 6 3,000 2.728 272
H+EAR 7 3, 500 3,182 318
H+EAK 8 4,000 3,637 363
H+EAK 9 #% 4,500 4,091 409
EH+EAK 10%¢ 5,000 4,546 454
& Ft Btk &% HE A
- H+EAK 18 2,150 1,955 195
M ELEAR 2 # 2. 650 2. 410 240
- E - EAK 3 3, 150 2,864 286
1#c e H+EAR 4 3, 650 3,319 331
EH+EAK 5 #% 4, 150 3,773 377
& Ft Bk &% HE A
R EH+EAK 18 3, 800 3, 455 345
AN ELEAR 2 # 4 300 3910 390
- E - EAK 3 4, 800 4, 364 436
o # L H+EAR 4 5, 300 4,819 481
EH+EAK 5 #% 5, 800 5,273 527
& Ft Bk &% HE A
- H+EAK 18 5, 450 4, 955 495
A ELEAR 2 # 5. 950 5. 410 540
- E - EAK 3 6, 450 5, 864 586
I#c L H+EAR 4 6, 950 6,319 631
EH+EAK 5 #% 7. 450 6,773 677
& Ft Bk &% HE A
R EH+EAK 18 7.100 6, 455 645
AN ELEAR 2 # 7. 600 6910 690
- E - EAK 3 8, 100 7,364 736
AH b H+EAK 4 8, 600 7,819 781
EH+EAK 5 #% 9,100 8,273 827
& Ft Bk &% HE A
. EH+EAK 18 8,750 7,955 795
M ELEAR 2 # 9. 250 8. 410 840
- E - EAK 3 9, 750 8, 864 886
5 # L H+EAK 4 10, 250 9,319 931
EH+EAK 5 #% 10, 750 9,773 977
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